M-A2-3-2_Lesson 2 Exit Ticket KEY


Use synthetic division to match the polynomials on the left with their roots on the right.

	
	Polynomials
	

	1
	x3 + 6x2 + 5x
	G

	2
	x2 – 7x + 6
	E

	3
	x4 – 7x3 – 7x2 + 43x + 42
	F

	4
	x2 – 10x + 16
	B

	5
	x4 + 4x3 – 53x2 – 168x
	C

	6
	x5 + x 4 – 51x3 + 31x2 + 538x – 840
	H

	7
	x2 + 10x + 24
	A

	8
	x3 – 15x2 + 74x – 120 
	D

	
	Roots

	A
	5, – 1, 0 

	B
	1, 6

	C
	– 2, 7, – 1, 3

	D
	2, 8

	E
	– 3, – 8, 0, 7

	F
	3, – 7, 2, – 4, 5

	G
	– 4, – 6 

	H
	4, 5, 6











